2013 AXNNBEA F=©
nREdEcE : 5=

- ~HEHAE L 2545588 4 > 26-308EF 45T & 0 £ - o0&
l. X>+ax+b=013 B2 5 x=-7,5> PlZ@,b) ¢ LAETG FhE 54?2 A - B = (O)= D=

2. By hpe @l TiE kg | TH B P - HE Az £ Kitty 28] 0 ¢ wiEAE s BE R Pl e RS0 0
(A)12 (B)24 (C)30 (D)40

3. TAlR AP ERERER5 2 (A) V1543 (B) V3442 (O \ﬁ\/f: (D) \f 1— V6

4. #— B BE Samr A e dFE Sbar 23 (EP b>a ) #H340B(- ) A \b
# ¢ AB,BC,CD,DA,%;% - B i#7; Blw 7 ABCD tha f£ 5 % 2 )
(A) b*+a> (B) (b+a)* (C) b*+(b-a)® (D) a’+2ab "a B

D

5. AN X 42X=12 840 Al i E s T AP R AT O a8
(A) ! > (B) — —>
(©) I > (D) : >

0 0

6. 199° =A+1> R A=?2 (A) (199+1)> (B) (199-1)> (C) (199+1)(199-1) (D) (199 +1)*(199 1)
7. E3% = x?=18=(x=2)BX* +mx+n)+2 > Bln= (A)5 (B)8 (C)10 (D)15

8. 3 - BHCH BT o0 2 0 vt r o RARfRN Sy n 2| EER AT 0 BB Bl B2 9

B 7
T o
BB _ITL—R £33
AD 2X(X+2) = 5x+7 ENyS
EASEN

B
XEBH—TL=—RFTEA ? g B
il Ax+3y =7 Bt

y_
REH—A—RIEX?
T

Ay* ®ee ©pp D~

9. — LR 100 etk AL WA - T P 400 & ok A LB R 1 2o Bl- 2 0§ 2 & 0 FR @I~ T.45000 & - B
FeME RN HES 55~ 2 (A)S0 (B)120 (C)150 (D) 180

10.7 5 4cit o ¥ 2 £E 2

(A) a¥_ac+bcz F;¢ (B) af ab+ayz F|;N(C) a-bF ay—abz Fl;¢ (D) 2y’ -y=yy-0)

112 7x9x @ +D)x @ +)x 8 +1)=2"-1>ni I K#> Blni (A)24 (B)32 (C)48 (D)64

124c@(Z) > 3x3 347 » 29 AB-~C-Dw B2 % A B2 B Zrerpedpt AB 4 7
LA A g R IEL 1 BT AR AR ? D
(A) AB=+2 (B) BC=+5 (C) CD=+10 (D) AD=4/11

B(=)
13 X 5.1 flc * %ﬁvﬁg&gxa\u f() 27 40 f(3)=0 - f(15)=1 - RIT 71 F &2

(A) f(25)=2 (B) f(49) =4 (C) £ f(x)=5> BIx¥ i ehiEt 9B (D) £ f(X)=6 > BIxF ¥ i £ 66

147 X x 5N +ax—6F A 333 B- N engfkfp > Bl ¥ dkar Vi 5 T A P ?
(A)17 (B)13 (C)7 (D) -13

157 7|55 ¢ > vR— BERASE? (A) (X )_@ B) f(x)=9 (C) f(x)=2x>-7 (D) f()=3x+5

AiTRRing ixaT rﬂiﬁ‘.} AGEFE DT BB P
IHEHE T pend = o N AA L § B 2 7R E? (A4

16. % BpF L A R 45452 3 g b W55 T BB A R Y S e 4 25
O+ ARG FFr & 78251 0 LA PR 6 ~nE & I
27 B)8aT (O)1227 (D)20 27

REBE 2013 RAE R SRR 1



17%%}( Y R BEMEE A= AR EE AR L 1208 8048 FRAI LG FF G

5T 209 (A)20 (B)40 (C)48 (D)S0
12
8
184rRl(z ) ZE L4t > THAVE- BRI A afifr 2 5- BT 3509
(A) X (B) (=)
J/— '—\1 /—X\rlx
= - H
//—X—\rl\\
X 1
/ x
(C) /\ljx \1 I
/ B ()
X
1
\ )
19.7 ~ 2 ~ [ = A R4 '\L‘ﬁaﬁ 3 3X2 +5X+2=2X>+5x+3 » = 4 ¥ FheT

LRV 51 (3x+2)(x+1)_(2x+3)(x+1)
AR ngf»"éf I (x+1) #1(3x+2)=(2x+3)
oo # 38 318 x =
Rz A2 'P%‘F“&p’?i%’éi'—? A" Bz (OfF (D) z*y

20. % B ek PhE P 0 f - £ AN F 0 £ 400 22 0 300 2% o 4ot 4K - l-ﬁiﬁ’m?}ﬁé’b’Lri‘a%cmﬁmf%:a?Elmzs

) FF F .
r ln; &;_—, r’i’% ﬂ—\; /') ,4} ~ ! (A) 4 (B) 5 (C) 8 (D) 10

21 9x% —24x+14c} — Bk s> 222 2T3 0 plkiE: 552 (A)63 (B)15 (C) —-63 (D) —15

U ppee@3=2t o) p@a2tl3
3 4 4

NV AEZTEPR O HR 4T : a®b=2 IR+ X

(A) (2@3)@4:% (B) 20(3®4)=3 (C) (-792)®1=-7®2®1) (D) I®2D3)=3®2)®1

23.3 XfFir— B 5358 “f,é%gaa (4ot 5751 ) f6 » 5 iEMmP 9= B ikl 2Ix+2
#rabcde f 47 0 fa+tb+d+e=92 (A)23 (B)29 (C)38 (D)46 bx+3/ 8 + ax +d
cx? + 6x
ex+d
24 4cB(T)#-E 5 50 24 0 B 5 2 A HuE, s FBAF(S )BT EY A fx+6
RlA e s ff 5 5223 207 (A)94 (B)9% (C)98 (D) 100 -3
90°
S — SOAS ———— _ _ _
& = QNI _190" 90°
B (%) _
258 % fie S jE #-4XT —8X+5 1 X 4(X+p)’ +qpFN o BT | feitt v TR ? 2 ()

(A) pxq=-1 (B) p-q=2 (C) p+q=4 (D) Tl

26 BEP F X HBEIY X hady=1(X) > B @) -F©6)+f(2)=? (A)28 (B)29 (C)30 (D)31

27.¢ s (k+1)° =k> +2k+12 35% =1225 0] 1225 &2 © 5|vh— Bz foiv 5 % 2T 3 #?
(A)35 (B)70 (C)71 (D) 1225

28 T AR wic T2 § | F Az £ HE 2 (A)4,6,8 (B)S5, 12,13 (O)5, V2, V3 (D)6,8,10

() e

29- ZHEWBRABFDFREHR T 08:30d E L BERTE > HERZ
E‘*F'&Fﬁg HEmA S (B(- ) HENL BA)) Pl EB e ? 6400 |-
(A) 08:41 (B) 08:42 (C) 08:43 (D) 08:44

2400 = --r ==~

|
0 : »
08:30 08:34  08:39 gxpy
B(+t)
e fel B R A28 2% +bx+C=0FF 5 o] i LFa CREA L 4,2 AL B FEbREEAIRL 1,3 R
(A)b 2 (B)c=-3 (C) R> #2345 42 (D) R4tz 4435-31

REBE 2012 RAE RIS SRR 2



